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Multiple Choice

Q.No: 11213415
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Q. No: 1 The avarage value of T'(t) = 50 + 14 sin(%) over the interval [0,12] is equal
to:
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Q. No: 2 The approximate value of / 2%dx using simpson’s rule with n = 2 is:
0
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Q. No: 3 The derivatives of f(x) = In(cosh™*(4x)) is equal to:
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Q. No: 4 di (/ cos(t3)dt> is equal to:
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Na)3 cos(272°) + sin(x) cos(cos®(z)) (b) cos(27z%) — cos(cos®(x))
(c) cos(27z%) + cos(cos®(z)) (d)3 cos(27z3) — sin(x) cos(cos®(z))

Q. No: 5 If f(z) =log(2z +5), then f'(—2) is equal to:
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Full Questions

T

Juestion No: 6 [4 marks] Evaluate the integral / - dz,, where e* < 2
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Question No: 7 [4 marks| If f(z) = <x+ %)x , then find f'(z).
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Question No: 8 [4 marks] Evaluate the integral / —z—d:c
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Question No: 9 [4 marks| Evaluate the integral / = oo e‘h
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Juestion No: 10 [4 marks| Let f(z) = %, and let P be the partition of [0,6] into the five

subintervals determided by:

o=0, z; =15, 23 =2.5, z3 =45, z40=5, z5 =6

a) Find the norm of the partition.

b) Find Riemann sum R, if for k = 1,2,3,4,5, wy, € [zx—1, )] are given by:

’LU1=1, ’LU2=2, w3=3.5, '(U4=5, ’£U5=55
® Neom = |lof =2
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